L p (280
o w =% 1T ] % 2 8] & 3 & F 4 &
SR |5 A p— . P . P . g
ML NP [ & 840 [ & [10:30[5& [ 13:20 [s7&] 1500
T B oy 9:00 oy 10%40;‘,4)5 13%30 oy 15%10
B wr gy y % 7 ¥ 7 B 7 B ‘
J G 10 - 00 11 :40 14 - 30 16 - 10
502 [ix g frac |7 Pl bk a e Prisc g g 1 e g
S =N B
503 |4 ¥ e | P b nsme brpgad e gasad
W 2= ':' E < v a2 o ) 2 ':' ¥’ a f’? B'/’t ';j’i 5 1 Ié;
504 ?lfﬂ'ﬂ{’t (é' éé}é%,\?ﬂ:)%‘}j\—"g'ﬁzv %/é§":&s i’ﬁ.a”‘fé,
505 407 fiac [ F L Tl s Prpor e g s g n
006 | P4 HLi7 iz '(';ii]\v%é}w ;>:<2 NEE Y RIS LKA LR
& s K o na s KR RREE ], .
al Mg s A T LAY
507 $ﬁél ﬁ (fiéé\v’]‘é}\*‘:%)x R E D “& ¥ ﬁ%ﬁ 2
208 |+ ;';#?ﬂém Q)>:<"}l‘1“i’“ﬁ"fé MF AL Lo F L
N < . 3L ER A - ) 2
509 [§+ [0 newe RETFTE Mgy
7| 510 | et st ;.;ii]\?mw Q) Mo fgEr DGEF S L RCRES Sl &
511 |3 '(';#E\Q%}w;%z}%ﬁ&fé TR S T
m%’%"‘;ﬂ“:‘ v o/ N B gk e o o 4 ,j%ﬂ’\b@%’&\iﬁﬁ:@,ﬁnp
012 R (#3202 3V 37 )XAB\%#Q KR AT L <~ &
% . M FER E (245 R
513 gre K P hasre bipgin | omeramn
(S’;}‘éé\c‘fé-}\‘?‘:%) 0 N aling AN kN 3% ’:7«‘?\ B H fTIECY = ‘f
ETE A ) 44
514 | o e [0 Pl S b agae et e s g 4
(#2235 %)
Vica olo| R+ ;;’;}E\Qv}é}\? Q)':'Q}E:\?:’Hé MKEFFE L [ KAFATEHER
S 1P LR R Q4D AT 9P iR MY RLAEIN - R A G 8 E A0 A H B -
- fs%%ﬁrxjﬁﬁj’ulw&M%;éﬁ YREE S 1L e sk 1Y 2 BaEE i
G0 X RS TR L B P -
TS (fdae R i), A 45 %Y KEALH AL (FAL2L); WE 104 (53
¥ 3D F A FHFEALS T0% - AFEALS 0% EARfLp 305 HigHg o
TR ANRTYTBEFEFR LS F X5 1S 54480 » HALEF I L&) > FE N FRFE > GPFF
_ PERE e FEYREBLE 4D A sEP o A B EF G Lo mEp RFER o P g ERPE
T

2B SHB@EEY A B ST EBALID AN o TN R W R
CEE R A T H @ H l‘ﬁ@iﬁ%

)

CEE A BB R P RRE s PSR 3
HREEA T AL (F) 3 Fsp PR LFE B
RARIATRTYSIHKF LY 1 &) Swdintls
ZLEEP L > R FRUEE > B FETRLEERER

2 2 B 3 2/

"~ F-ﬁlv“fft‘r‘ PR lRezE P 2 %2

FLALE

RS R FRRL Frde b %ﬁ.mm k1

Bt £ 20 & 45 e




